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3.1 Matrix Operations

Example: Simplify B**® given that B3 = I.
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Definition: Let O be the zero matrix. For example O= [8 8] or O= [O

Example: Find a 2 x 2 matrix A so that A2 =0 but A #0.
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3.2 Matrix Algebra

3.2 Matrix Algebra
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Example: Is [ 4 9| @ linear combination of [6 2} and [7 2} /
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3.2 Matrix Algebra

Example: Find the general form of span( B 8] , {2 (1)] , Lzl é] ).
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3.2 Matrix Algebra

Comment: The general form of the span allows us to quickly identify which matrices are

. 1 7). . 1 7.
in the span. For example, [2 30} is in the span and [3 30] is not.

Example: Find the general form of span( B 8] , {Z é] ).
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3.2 Matrix Algebra

1 0] (30 2 1
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Example: Are {2 0} ) {6 1} and { 4 5] linearly independent?
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